BOARD OF COMMISSIONERS

OSBORN NESBITT, Sr., CHAIRMAN Sherri L. Washington, Commissioner Post I Dr. Doreen Williams, Commissioner Post II



DEPARTMENT OF FINANCE MARK LEWIS, FINANCE DIRECTOR TELEPHONE: 770-278-7555 FACSIMILE: 770-278-8910

Addendum No. 3

ITB No. 22-38 EASEMENT CLEARING AND CHEMICAL SPRAYING

January 19, 2023

ITB #22-38 is hereby amended as follows:

- 1. Below are questions received and corresponding answers:
 - **A.** Question: On the bid tabs provided, is there a way to get the breakdown of the individual line items or a copy of the individual price sheets?

Answer: See attached.

B. Question: Does the county know how many lineal feet they expect to complete, If there hasn't been a contract in the last couple of years?

Answer: No

- 2. All other conditions remain in full force and effect.
- 3. If a bid has been submitted and anything in this Addendum causes the bidder to change the item offered or to increase or decrease the bid price, the new price and/or changes will be inserted below:

4. All bidders under this Invitation to Bid are kindly requested to acknowledge receipt of this Addendum on page 14 of the Bid Package.

BOARD OF COMMISSIONERS

OSBORN NESBITT, Sr., CHAIRMAN Sherri L. Washington, Commissioner Post I Dr. Doreen Williams, Commissioner Post II



DEPARTMENT OF FINANCE
MARK LEWIS, FINANCE DIRECTOR

TELEPHONE: 770-278-7555 FACSIMILE: 770- 278-8910

<u> Tina Malone</u>

Tina Malone, CPPB CPPO Procurement Manager Department of Finance, Purchasing Division

ORIGINAL

BID FORM - ITB No. 19-21

Instructions: Complete all THREE parts of this bid form.

PART I: Bid Summary

Complete the information below. If you wish to submit more than one brand, make a photocopy of this Bid Form.

ITEM #	DESCRIPTION - include all expenses, overhead and profit	UNIT	UNIT COST	Yearly Estimated QUANTITY	TOTAL
	Easement Clearing By Machine				
1	Light	Square Feet	.10	500,000	\$50,000.
2	Medium	Square Feet	.15	300,000	\$ 45,000,
3	Heavy	Square Feet	.20	100,000	\$20,000.
	Easement Clearing By Hand				
4	Light	Square Feet	.12	400,000	\$ 48,000.0
5	Medium	Square Feet	.20	200,000	\$ 40,000.0
6	Heavy	Square Feet	. 25	100,000	\$25,000.
LEPS D					
	Selective Tree Clearing				
7	Selective Tree- 0"-14"	Each	225	20	\$4500.00
8	Selective Tree- 15"-24"	Each	345	10	\$3450,00
9	Selective Tree- 25"-36"	Each	820	10	\$8200.00
	Miscellaneous				
10	Stump Grinding	Hour	100	8	\$ 800.00
11	Debris Chipping	Hour	100	8	\$ 800.00
12	Seed and Fertilize	Square Feet	.15	900	\$ /35.00
13	Mulching	Square Feet	15	900	\$ /35.00
14	Solid Sod	Square Feet	1.00	900	\$ 900.00
15	Top Soil In Place	Cubic Yard	50.00	10	\$ 500.00
16	Remove and Reset Fencing	Linear Feet	25.00	10	\$ 250.00
17	Emergency mobilization fee 24-hr response	Each	500.00	1	\$ 500.00
18	Road for Temporary Access	SY	20.00	10	\$ 200.00
19	Silt Fence – Type A	LF	2,50		\$ 750.00
20	Silt Fence – Type C	LF	4.50	1	\$ 4.50 \$249,124.

BID FORM - ITB No. 19-21

Instructions: Complete all THREE parts of this bid form.

PART I: Bid Summary
Complete the information below. If you wish to submit more than one brand, make a photocopy of this Bid Form.

ITEM #	DESCRIPTION - include all expenses, overhead and profit	UNIT	UNIT COST	Yearly Estimated QUANTITY	TOTAL
	Easement Clearing By Machine				
1	Light	Square Feet	.09	500,000	\$ 45,000.00
2	Medium	Square Feet	.13	300,000	\$ 39,000.00
3	Heavy	Square Feet	.17	100,000	\$17,000.00
	The state of the s				
	Easement Clearing By Hand	Square Feet	.09	400,000	\$36,000,00
4	Light	Square Feet		200,000	\$26,000,00
5	Medium		.13	100,000	
6	Heavy	Square Feet	1.17	100,000	\$ 17,000,00
	Selective Tree Clearing				Annie Tegus
7	Selective Tree- 0"-14"	Each	\$ 500.00	20	\$ 10,000,00
8	Selective Tree- 15"-24"	Each	\$1,250,00	10	\$ 12,500.00
9	Selective Tree- 25"-36"	Each	\$2,520.00	10	\$25,000.00
	TO STATE AND A STATE OF THE STA				
NG LAT	Miscellaneous	1209: 00 july	10 - 11	T.	100000
10	Stump Grinding	Hour	#375.00	8	\$3,000.00
11	Debris Chipping	Hour	#375.00	8	\$3,000.00
12	Seed and Fertilize	Square Feet	\$1.50	900	\$1,350.00
13	Mulching	Square Feet	#1.25	900	\$ 1,125.00
14	Solid Sod	Square Feet	\$1.35	900	\$ 1,215.00
15	Top Soil In Place	Cubic Yard	# 75.00	10	\$750.00
16	Remove and Reset Fencing	Linear Feet	\$50.00	10	\$ 500.00
17	Emergency mobilization fee 24-hr response	Each	\$2,500,00	1	\$ 2,500.00
18	Road for Temporary Access	SY	\$7.50	10	\$ 75.00
	Silt Fence – Type A	LF	#4.50	300	\$ 1,350.00
19	71		#3.50		\$ 3.50

BID FORM - ITB No. 19-21

Instructions: Complete all THREE parts of this bid form.

PART I: Bid Summary
Complete the information below. If you wish to submit more than one brand, make a photocopy of this Bid Form.

ITEM#	DESCRIPTION - include all expenses, overhead and profit	UNIT	UNIT COST	Yearly Estimated QUANTITY	то	TAL
	In a City in Phylodeline					
- Periland	Easement Clearing By Machine		000	600,000		11 500
1	Light	Square Feet	.023	500,000	\$	11,500
23	Medium	Square Feet	.075	300,000	S	22,500
3	Heavy	Square Feet	.13	100,000	S	13,000
	Easement Clearing By Hand	Mark Control				
3	Light	Square Feet	.05	400,000	\$	20,000
<u> </u>	Medium	Square Feet	.15	200,000	8	30,000
<u> </u>	Heavy	Square Feet	.32	100,000	\$	32,000
	Selective Tree Clearing					
7	Selective Tree- 0"-14"	Each	660.00	20	S	13,200
3	Selective Tree- 15"-24"	Each	1320.00	10	S	13,200
9	Selective Tree- 25"-36"	Each	2640.00	10	\$	26,400
	Miscellaneous					
10	Stump Grinding	Hour	65.00	8	\$	520
11	Debris Chipping	Hour	65.00	8	\$	520
12	Seed and Fertilize	Square Feet	.075	900	\$	67.50
13	Mulching	Square Feet	.30	900	\$	270
14	Solid Sod	Square Feet	.35	900	\$	315
15	Top Soil In Place	Cubic Yard	22.00	10	\$	220
16	Remove and Reset Fencing	Linear Feet	7.50	10	\$	75
17	Emergency mobilization fee 24-hr response	Each	500.00	1	\$	500
18	Road for Temporary Access	SY	55.00	10	\$	550
19	Silt Fence – Type A	LF	10.00	300	\$	3,000
20	Silt Fence – Type C	LF	7.00	1	\$	7
TOTAL:	•				\$	87,844.

BID FORM - ITB No. 19-21

Instructions: Complete all THREE parts of this bid form.

PART I: Bid Summary
Complete the information below. If you wish to submit more than one brand, make a photocopy of this Bid

Lig Me Bank He Ea Lig Mo Se Se Se Se Mo Se Mo Se Se Se Se Se Se Se	asement Clearing By Machine ght edium eavy asement Clearing By Hand ight ledium eavy	Square Feet		500,000 300,000 100,000 400,000	\$ \$ \$	
Lig Me Bank He Ea Lig Mo Se Se Se Se Mo Se Mo Se Se Se Se Se Se Se	ght edium eavy asement Clearing By Hand ight ledium eavy	Square Feet Square Feet Square Feet Square Feet		300,000	\$ \$	
Ea He Ea Lig 5 Mo 6 He Se 8 Se 9 Se M 10 Str	edium eavy asement Clearing By Hand ght edium eavy	Square Feet Square Feet Square Feet Square Feet		300,000	\$ \$	
Ea He Ea Lig 5 Mo 6 He Se 7 Se 8 Se 9 Se M 10 Str	eavy asement Clearing By Hand ght ledium eavy	Square Feet Square Feet Square Feet		100,000	\$	
Ea 4 Lig 5 Mo 6 He Se 7 Se 8 Se 9 Se M 10 St	asement Clearing By Hand ight ledium eavy	Square Feet Square Feet		400,000		
Ea 4 Lig 5 Mo 6 He Se 7 Se 8 Se 9 Se M 10 Str	ght ledium eavy	Square Feet			\$	
4 Lig 5 M6 6 He Se 7 Se 8 Se 9 Se M10 Str	ght ledium eavy	Square Feet			S	
5 Mo 6 He 8 Se 7 Se 8 Se 9 Se M 10 Str	edium eavy	Square Feet			1 3	
6 He Se 7 Se 8 Se 9 Se M 10 St	eavy	i			\$	
Se Se Se Se Se Se M 10 Str	TO WILLIAM TO STATE OF THE STAT	Square Feet		200,000		
7 Se 8 Se 9 Se M 10 Str	elective Tree Clearing			100,000	\$	
7 Se 8 Se 9 Se M 10 Str	elective free clearing					
8 Se 9 Se M 10 Str	elective Tree- 0"-14"	Each	150.00	20	\$ 3,000.00	
9 Se M 10 Str				10	\$3,750.00	
M 10 Str	elective Tree- 15"-24"	Each	375.00	10	\$8,750.00	
10 St	elective Tree- 25"-36"	Each	875,00	10	\$0,750.00	
10 St	liscellaneous					
	tump Grinding	Hour	300.00	8	\$ 2,400.00	
11 De	ebris Chipping	Hour	180.00	8	\$1,400.00	
	eed and Fertilize	Square Feet	.30	900	\$270.00	
14	fulching	Square Feet	1:25	900	\$1,125.00	
17	olid Sod	Square Feet	4.00	900	\$3,600.00	
17	op Soil In Place	Cubic Yard	60.00	10	\$600.00	
	emove and Reset Fencing	Linear Feet	5.00	10	\$50.00	
10	mergency mobilization fee 24-hr response	Each	175.00	1	\$175.00	
	oad for Temporary Access	SY	500.00	10	\$5,000.00	
10	ilt Fence – Type A	LF	1.50	300	\$450.00	
1/	ilt Fence – Type C	LF	2.50	1	\$2,50	